
Group Problem  
 
A friend of yours who is studying film has asked that you help him recreate the opening scene 
from the movie Raiders of the Lost Ark.  In this scene, a huge spherical boulder rolls toward 
Indiana Jones (played by Harrison Ford) almost crushing him, just as he narrowly escapes out the 
mouth of a cave.  The boulder appears to start from rest about 5 meters above the ground and roll 
down a ramp that is about 15 meters long.  The boulder does not roll exactly on its bottom edge 
because it is rolling between two rails.  Assume that the rails contact the boulder at a point about 
1/4 of the way between the bottom of the boulder and the center of the boulder.  Your friend 
needs to know how fast the boulder is moving just as it is about to hit Indiana Jones and how 
long Indiana has to avoid the boulder once it starts to roll.   








